


Q1 Rayleigh’s Principle on single degree of freedom beam model

A popular and straightforward question, well-answered by most candidates.
There was a fair bit of algebra in the integrations of the first part, with
inevitable slips by a few.
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Q2 Liquefaction and soil-structure interaction
Another popular question. Students demonstrated a good knowledge of the subject
matter covering the effects of earthquakes on soil stiftness.









Q3 Elastic and Inelastic Response Spectrum Analysis

A popular question with a high average mark, and a significant number scoring full
marks. The solutions were helped by having the true mode shape given. This had the
further effect that the various ways of approaching part (a)(iv) all led to the same
answer for the column shear.
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Q4 Blast response and wind engineering

As is often the case for this final part of the course material, this last
question was attempted by only a few candidates, in this case 5.
Nevertheless, the standard of submissions was high. For the vortex-
induced vibration of the suspension bridge in part (c)(i), the question
specified that the given Strouhal number was based on deck depth d, but
at least one candidate gave intelligent reasons as to why other dimensions
(such as L or sqrt(Ld)) would be more physically reasonable.
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